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1  Javed says that his eyes will blink 415 000 000 times in 79 years.
(a) Write 415000000 in standard form.
ANSWEF (A) eveveeeeeeeciieeeeeeeeeciee e [1]
(b) One year is approximately 526 000 minutes.
Calculate, correct to the nearest whole number, the average number of times his eyes will blink
per minute.
ARSWET (D) oo [1]
2 Luis and Hans both have their birthdays on January 1st.
In 2002 Luis is 13 and Hans is 17 years old.
(a) Which is the next year after 2002 when both their ages will be prime numbers?
ANSWEF ((L) v [1]
(b) In which year was Hans twice as old as Luis?
ARSWET (D) oo [1]
3 € €
A B C D
Diagram 1 Diagram 2
(a) InDiagram 1, shade the area which represents A UB’. [1]

(b) Describe in set notation the shaded area in Diagram 2.

ARSWET (D) oot [1]
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SCALE

E
B C

ABCD is a parallelogram and BCE is a straight line. Angle DCE = 54 ° and angle DBC = 20°.

Find x and y.

Answer x =

5 Calculate the length of the straight line joining the points (— 1, 4) and (5, —4).

ATISWET oo [2]
6 YA
6
5
4 A
3
2 a
1 B
be—//

] .
-S4 [3 =2 (-1 ]o] [ 1 23 4[5 6780910 x
ettt

—> —>
(a) Draw the vector OC so that OC =a-b. [1]
%
(b) Write the vector AB in terms of a and b.
%
Answer (b) AB .......oooeeeeeieeieeciee e [1]
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7  The temperature decreases from 25 °C to 22 °C. "

Calculate the percentage decrease.

ANSWEF .o eeeeeiraeeaa e % (2]

8  Solve the inequality

3(x+7)<5x—09.

ATSWEF et eeeccieeee e eeecvareea e [2]

9  Elena has eight rods each of length 10 cm, correct to the nearest centimetre.
She places them in the shape of a rectangle, three rods long and one rod wide.

NOT TO
SCALE
(a) Write down the minimum length of her rectangle.
ANSWEY ((L) oo eeeeeieeeee e eeenns cm  [1]
(b) Calculate the minimum area of her rectangle.
ARSWEF (D) oo, cm?  [1]
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10 Mona made a model of a building using a scale of 1:20.
The roof of the building had an area of 300 m?.

(a) Calculate the area of the roof of the model in square metres.

ANSWEF (L) e eeeeeanns m?  [2]
(b) Write your answer in square centimetres.
ARSWET (D) oo cm?  [1]
11 Make V the subject of the formula T= Vi T -
Answer Y e [3]

12 A seven-sided polygon has one interior angle of 90 °.
The other six interior angles are all equal.

Calculate the size of one of the six equal angles.
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13

Part of the net of a cuboid is drawn on the 1cm square grid above.
(a) Complete the net accurately. [1]

(b) Calculate the volume of the cuboid.

ARSWET (D) oo cm®  [1]

(c) Calculate the total surface area of the cuboid.

ANSWEY (C) weveeeeeeeeciieeeeeeeeeccieee e cm?  [1]

1
14 (a) Write down the value of x~!, x°, x2 and x> when x = 1.

(b) Write y!, y°, y? and y3 in increasing order of size when y < — 1.

Answer (b) ........... oo <o < e 2]
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15 (a) B (i) Complete quadrilateral ABCD so that the dotted "
line is the only line of symmetry. [1]
(ii) Write down the special name for quadrilateral
A ABCD.
ARSWET (@)(11) vveeeeeriereeiiieeeeieeeeecieeeeaee e [1]
D
(b) F (i) Complete quadrilateral EFGH so that the dotted
line is one of two lines of symmetry. [1]
///
£ (ii) Write down the order of rotational symmetry for
quadrilateral EFGH.
N
\\\
Answer (D)(A1) ....oooovvvveeiieeeeiiiieeeee e [1]
H
16 f(x)= X and g(x) =2x*~5 for all values of x.
(a) Find
i g™,
ARSWEF (A)(A) woveeeeeeiieeeeeeeeeeeceee e [1]
() fg4).
ARSWET (@)(11) vveeeeerieeeeeiieeeeieee e [1]
(b) Find an expression for gf(x) in terms of x.
Answer (b) gf(X) woeoveeeeeiieiieeeeeee e [1]
(¢) Find f(x).
Answer (€) T e [1]
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8
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SCALE
Two circles have radii » cm and 4r cm.
Find, in terms of i and r.
(a) the area of the circle with radius 4r cm,
ANSWEY (() weveeeeeeeeceeeeeeeeeeecieeeeee e cm?  [1]
(b) the area of the shaded ring,
ANSWEY (D) oo cm?  [1]

(c) the total length of the inner and outer edges of the shaded ring.

ANSWEF (€) eeeereeeeeeeeeeeieeeee e eeeans cm 2]

18

(a) Omar changed 800 rands into dollars when the rate was $1 = 6.25 rands.

(i) How many dollars did Omar receive?

Answer (a)(1) $ oo [1]

(ii) Three months later he changed his dollars back into rands when the rate was
$1 = 6.45 rands. How many extra rands did he receive?

ARSWer (A)(A1) cuveeeeeeieeeeiieeeeeieee e, rands [1]

(b) Omar’s brother invested 800 rands for three months at a simple interest rate of 12% per year.
How much interest did he receive?

ANSWEF (D) oo, rands [2]
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A= 2—3, B:4 3x’ C= 10—15'
-2 5 0 -1 -2 3
(a) A+2B=C.
(i) Write down an equation in x. ANSWEF (A)(1) ceverveeeeeeeeeeieeeeee e [1]
(ii) Find the value of x.
Answer (a)(11) X = covveveeceeeeeeeee e [1]
(b) Explain why C does not have an inverse.
ATISWEE (D) ettt e e e e e e a e e e e e e naaaaaeeeeanans [1]
(¢) Find A 7!, the inverse of A.
Answer (c) [2]
20 (a) Factorise
(i) x%-5x,
ARSWET (A)(1) cvveeeeeriereeeiiee e eeree e [1]
(i) 2x>-1lx+5.
ANSWer (A)(A1) ..ooooveeivieieeeeeecciieeee e [2]
2
(b) Simplify —X"=5%
2x2 - 11x+5
ANSWEF (D) oo [2]
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NOT TO
950 SCALE
9m 6m
A C

The triangular area ABC is part of Henri’s garden.

AB=9m, BC =6m and angle ABC =95°.

Henri puts a fence along AC and plants vegetables in the triangular area ABC.
Calculate

(a) the length of the fence AC,

ANSWEr () AC = ..ooeeeeeeeeeeeeeeeeeecceeeeeeeenn, m

(b) the area for vegetables.

ANSWEY (D) oo, m

(3]

(2]
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11

s =

N o o

6

- N e e

(a) Find the equation of the line / shown in the grid above.

ANSWET (@) oveeeevieeeeieee et

(b) Write down three inequalities which define the region R.

ANSWET (D) v
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